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|
[ J
XC6233 -
DESIGNATOR ITEM SYMBOL DESCRIPTION
T}ép: :Ztizg::z:?r H Refer to Function Guide
Output Voltage 12 36 |ex.)2.80V— =2, =8 =please see down below
0.10V increments,
1 +1% (Vour 2.00V), £0.02V (Vour 2.00V)
Output Voltage e.g.2.80v - =1
Accuracy 0.05V increments,
B +1% (Vour 2.05V), £0.02V (Vour 2.05V)
eg.285v - =B
9R-G USPQ-4B04 3000/Reel
1) Packages GR-G USP-4 (3000/Reel)
i (Order Unit) NR-G SSOT-24 (3000/Reel)
MR-G SOT-25 (3000/Reel)
g EU RoHS

e Function Guide

INRUSH CURRENT
TYPE | CURRENT LIMITTER | CE PULL-DOWN RESISTOR | C_AUTO-DISCHARGE PREVENTION
H Yes Yes Yes Yes
|
[ J
Vour PACKAGES
V) USPQ-4B04 USP-4 SSOT-24 SOT-25
1.20 XC6233H1219R-G | XC6233H121GR-G | XC6233H121NR-G | XC6233H121MR-G
1.50 XC6233 H 1519R-G | XC6233H151GR-G | XC6233H151NR-G | XC6233H151MR-G
1.80 XC6233H1819R-G | XC6233H181GR-G | XC6233H181NR-G | XC6233H181MR-G
2.80 XC6233H2819R-G | XC6233H281GR-G | XC6233H281NR-G | XC6233H281MR-G
3.30 XC6233H3319R-G | XC6233H331GR-G | XC6233H331NR-G | XC6233H331MR-G
1.2v~3.6V
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|
CE V, Vour NG
N Vin Vour 5 4
:
L/<>\J Vss 2 [ []3 CE
N /‘ Vour 1 [ [14 Vi
2
Vss  Vour CE Vss
Vi Vss CE
USPQ-4B04 UspP-4 SS0T-24 SOT-25
(BOTTOM VIEW) (BOTTOM VIEW) (TOP VIEW) (TOP VIEW)
*USPQ-4B04 UsP-4
Vss 2 Pin
|
PIN NUMBER PIN
FUNCTIONS
USPQ-4B04 USP-4 SSOT-24 SOT-25 NAME
1 1 3 5 Vou'r Output
2 2 2 2 Vss Ground
3 3 1 3 CE ON/OFF Control
4 4 4 1 ViN Power Supply Input
- - - 4 NC No Connection
|
PIN NAME SIGNAL STATUS
L Stand-by
CE H Active
OPEN Stand-by *
*H IC CE L
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XC6233

Ta=25
PARAMETER SYMBOL RATINGS UNITS
Input Voltage VIN -0.3 +6.0 \%
Output Current lout 275 (" mA
Output Voltage Vour -0.3 Vnt0.30r+6.0 @ v
CE Input Voltage Vce -0.3 +6.0 \%
USPQ-4B04 550 ( )9
USP-4 3
Power Dissipation Pd 1000 ( )* mW
SSOT-24 500 ( )
SOT-25 600 ( ) o
Operating Ambient Temperature Topr -40 +85
Storage Temperature Tstg -55 +125
VSS
lour  Pd/ Vi-Vour
2 Vint0.3 +6.0
) 26 29

TOIREX
5/32
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|
XC6233 Ta=25
PARAMETER SYMBOL CONDITIONS MIN. TYP. MAX. UNITS| CIRCUIT
Vourmx0.99 | Vv, 2 \Vourm»1.01 2
Vourm 2.0V outm “;U(T)(I)m) ouT(T)
Output Voltage VoutE) e s - ~ 2 v
Vourm-0.02 | Vourm ™ |Voura+0.02 2
Vourm 2.0V =)
“E-0"
Maximum Output Current louTmax - 200 - - mA
Load Regulation AVoyr 0.1mA lour 200mA - 25 45 mV
Dropout Voltage Vdif ' |lour=200mA - “E-17 (D) mv
Supply Current lop lout=0mA - 45 87 HA
Stand-by Current lste Vce=Vss - 0.01 0.10 HA
VOUT(T) 20V, |0UT=30mA
. ) AVour/ 2.5V Vi 5.5V
Line Regulation - 0.02 0.10 %IV
(AVIN VOUT) VOUT(T) 20V, |0UT=30mA
VQUT(T)"‘O.SV V|N 5.5V
Input Voltage Vin - 1.7 - 5.5 Vv
Output Voltage Temperature AVour/ lout=10mA
o - +80 - ppm/
Characteristics (ATopr  Vour) |-40 Topr 85
Vourm 2.5V
Vin=3.0Vpc+0.5Vp-pac
VCE=VOUT(T)+1 .oV
Power Suppl lout=30mA, f=1kHz
WEr SUPPYY PSRR & y 75 . dB
Rejection Ratio Vourm 2.5V
Vin= Vourm+1.0 +0.5Vp-pac
Vee=Vourm+1.0V
|0UT=30mA, f=1kHz
Current Limit ILm - 200 255 - mA
Short Current ISHORT VOUT=VSS - 60 - mA
CE "H" Level Voltage Veen - 0.9 - 5.5 Vv
CE "L" Level Voltage VeeL - Vss - 0.3 \%
CE "H" Level Current
ICEH VCE=V|N=5.5V 2.5 6.0 9.5 [JA
(Type H)
CE "L" Level Current lce Vce=Vss -0.1 - 0.1 HA
C. Auto-Discharge Resistance RDCHG V|N=5.5V, VCE=VSS, VOUT=2-0V - 270 - Q
Inrush Current lRusH Vin=5.5V, Vce=0 - 5.5V - 95 - mA
Vin=Vourm+1V, Vee=Vin, lour=TmA
e VOUT(E):
2 Vourm):
%) E-0: OUTPUT VOLTAGE
M vdif {Vinr  Vours}
Vint: Vour
Vour: lour Vin =VOUT(T)+1-0V 98%

% E-1: DROPOUT VOLTAGE
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XC6233

|
E-0 E-1 E-0 E-1
NOMINAL OUTPUT DROPOUT NOMINAL OUTPUT DROPOUT
OUTPUT VOLTAGE VOLTAGE OUTPUT VOLTAGE VOLTAGE
VOLTAGE (V) (mV) VOLTAGE V) (mv)
VOUT(E) Vdif VOUT(E) Vdif
Viaumm MIN. MAX. | TYP. | MAX. Vi MIN. MAX. | TYP. | MAX.
1.20 1.1800 1.2200 2.50 24750 | 25250
680 | 950
1.25 1.2300 1.2700 2.55 25245 | 25755
1.30 1.2800 1.3200 2.60 25740 | 26260
640 | 800
1.35 1.3300 1.3700 2.65 26235 | 26765
1.40 1.3800 1.4200 2.70 26730 | 27270
310 | 420
1.45 1.4300 1.4700 2.75 27225 | 27775
600 | 695
1.50 1.4800 1.5200 2.80 27720 | 2.8280
1.55 1.5300 1.5700 2.85 28215 | 28785
1.60 1.5800 1.6200 2.90 28710 | 29290
1.65 1.6300 1.6700 2.95 29205 | 29795
510 | 630
1.70 1.6800 1.7200 3.00 2.9700 | 3.0300
1.75 1.7300 1.7700 3.05 3.0195 | 3.0805
1.80 1.7800 1.8200 3.10 3.0690 | 3.1310
1.85 1.8300 1.8700 3.15 3.1185 | 3.1815
400 | 600
1.90 1.8800 1.9200 3.20 3.1680 | 3.2320
1.95 1.9300 1.9700 3.25 32175 | 3.2825
2.00 1.9800 | 2.0200 3.30 32670 | 3.3330 | 240 | 380
2.05 20295 | 2.0705 3.35 3.3165 | 3.3835
2.10 20790 | 21210 3.40 3.3660 | 3.4340
2.15 21285 | 21715 3.45 34155 | 3.4845
2.20 21780 | 22220 3.50 34650 | 3.5350
375 | 520
2.25 22275 | 22725 3.55 35145 | 3.5855
2.30 22770 | 23230 3.60 35640 | 3.6360
2.35 2.3265 | 23735
2.40 2.3760 | 2.4240
2.45 24255 | 24745

TOIREX
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|
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<

<

XC6233

ESR
XC6233

XC6233

<CE >

H

XC6233

(Vss)

Vout R1 R2
VOUT Pch-MOS VOUT
XC6233 H
Vi % » ¢ Eﬂ Vour
T
Crs RI

Current Limit

o
Prevention
R2
CE ON/ OFF
Control Voltage >4
H Refi
T ceB e er|ence CEB
L. each V.
.......... P circuit %
>
(Cv) C. Vour
CL 1.0pF
Vin Vss Cn 1.0F
60mA TYP.
CE IC
CE Low CE
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[ |
<C_ >
XC6233 Vour-Vss N-ch ON (Rocrs)  270Q TYP. (Vin=5.5V
VOUT=2.0V)
N-ch CE Low (CL)
(Rocha) (CL
Rocie  Cu T(T=C.*RocHa) CR
V=Vour(e )Xe't/T
V:
Vout(E):
t:
T: RocrexCL
C|_C
RocHa:
t=7ln (VOUT( E) / V)
< >
XC6233
IC (Cu) Vin-Vour ( ) 95mA (TYP.)
IC 100pas 95mA (TYP.)
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(1) Output Voltage vs. Output Current
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XC6233(Vour=1.2V)

V=2.2V, C=1.0puF(ceramic), C,=1.0paF(ceramic)
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(1) Output Voltage vs. Output Current

XC6233(Vour=3.3V)

V\=4.3V, C=1.0uF(ceramic), C,=1.0jaF(ceramic)
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(2) Output Voltage vs. Input Voltage
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(2) Output Voltage vs. Input Voltage
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(3) Dropout Voltage vs. Output Current
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XC6233(Vour=1.2V)
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(3) Dropout Voltage vs. Output Current

Dropout Voltage : Vdif (V)
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(4) Supply Current vs. Input Voltage

Supply Current : Ipp (IMA)
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(5) Output Voltage vs. Ambient Temperature

Output Voltage : Vour (V)

Output Voltage : Vour (V)

XC6233(Vour=1.2V)

Vi=2.2V, C=1.04F(ceramic), C,=1.0jaF(ceramic)
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(6) Supply Current vs. Ambient Temperature

Supply Current : Ipp (MA)

XC6233
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Ambient Temperature : Ta ( )

Output Voltage : Vour (V)

Output Voltage : Vour (V)

XC6233(Vour=1.8V)

V\=2.8V, C\=1.0uF(ceramic), C,=1.0jaF(ceramic)
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(7) CE Threshold Voltage vs. Ambient Temperature

CE Threshold Voltage : Vce (V)

XC6233

Cp=1.0p4F(ceramic), C,=1.0j4F(ceramic)
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(8) Rising Response Time
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XC6233(Vour=2.5V)
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(9) Input Transient Response

Output Voltage : Vour (V) Input Voltage : Viy (V)

Output Voltage : Vgur (V)

55

45

35

25

15

05

-0.5

XC6233(Vour=2.5V)

V=35V <45V, tr=tf=5s, Ta=25
Cp=C_=1.0juF(ceramic)

Input oltaqe

Output Voltage

I0UT=0.1mA
I0UT=30mA

10UT=100mA
10UT=200mA

Time (100pus/div)

Load Transient Response

1.40
135
1.30
125
1.20
115
110
1.05
1.00
0.95
0.90

2.00
1.95
1.90
1.85
1.80
1.75
1.70
1.65
1.60
1.55
1.50

18/32

XC6233(Vour=1.2V)

lour=50mA = 100mA, tr=tf=0.5j4s, Ta=25
Vin=2.2V, C=C =1.0puF(ceramic)

Output Voltage

Output Current

100mA __|

50mA
| |

Time (200 s/div)

XC6233(Vour=1.8V)

lour=50mA = 100mA, tr=tf=0.5jus, Ta=25
V=28V, C=C =1.0juF(ceramic)

Output Voltage

Output Current

L |

100mA |1

50mA

Time (200pas/div)

2.56

N
vl
>

N N

a a1

o N
Output Voltage : Vour (V)

2.48
2.46
2.44
500
<
0 g
5
300 =
=
<
S
200 3
5
=1
100 3
0
500
<
400%
-
3
300 =
=
c
o
200 3
5
=]
100 3
0

Output Voltage : Vour (V) Input Voltage : Viy (V)

Output Voltage : Vour (V)

6.5

55

45

35

25

15

05

140
135
1.30
125
1.20
115
110
1.05
1.00
0.95
0.90

2.00
1.95
1.90
1.85
1.80
175
1.70
1.65
1.60
155
1.50

XC6233(Vour=3.3V)

V=43V =53V, tr=tf=5ps, Ta=25
Cpn=C_=1.0paF(ceramic)

Input Voltage
Output Voltage
N
I\l <
10UT=0.1mA
I0UT=30mA
I0UT=100mA
10UT=200mA
| | | | |

loyr=0.1mA = 200mA, tr=tf=0.5us, Ta=25

Time (100 s/div)

XC6233(Vour=1.2V)

Vi=2.2V, C\=C =1.0puF(ceramic)

Output Voltage

Output Current

200mA

0.1mA
L I

lour=0.1MmA = 200mA, tr=tf=0.5pus, Ta=25

Time (200pas/div)

XC6233(Vour=1.8V)

V=28V, C\\=C_=1.0j4F(ceramic)

Output Voltage

Output Current

200mA

0.1mA

Time (200ps/div)

3.36

3.34

3.32

3.30

Output Voltage : Voyr (V)

900
800
700
600
500
400
300
200
100

Output Current : loyt (MA)

-100

900
800
700
600
500
400
300
200
100

Output Current : lgyr (MA)

-100




XC6233

(10) Load Transient Response
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(13) Inrush Current Response
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(14) Output Noise Density
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)
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